ﬁm%%&%ﬁ%ﬁ&#%

HE = HE RIBPFREER Tt FaerL/xEBEENEE)
> 55 A7 = N a— %’91464.7MW(E’=’ﬁ)
=7 == 7'( AN . & gt 1 1 JC
g,ﬁi%ﬂx%q:mﬂﬁ?%%fq:(a%%nﬁ?%ﬁia;lSMW) 216fF (dReg : 817.6MW - E-dReg : 587.6MW - sReg : 59.5MW)
== z= #17.4MW
A 4R BEETRHA 3tF (dReg : 7.4MW - E-dReg : 10MW)
FiAE £9149.1MW
EEBEERN 461+ (dReg : 109.2MW - E-dReg : 35.9MW - sReg : 4MW)
w#EPEH OfF =
SEIBE #93347.5MW
EEBESRM 421F (dReg : 169.9MW - E-dReg : 3177.6MW)
= £2917.4MW
ot sEEhIEM 3% (dReg : 7.4MW - E-dReg : 10MW)
(3514MW) 7 1 o ot e #13496.6MW
Eﬁiﬂ%g*ﬁ: 8814: (dReg : 279.1MW - E-dReg : 3213.5MW - sReg : 4MW)
I AERGLEARF RIS IEBATTS 2 523258538 -
LA )

2 533 114 #5F TP RFASE L EPMY -3 P 5
3 s TREN AR EEE SR Jﬁﬁ%%ﬁa%ﬁ%ﬁﬁ?ﬁﬁiﬁﬁgﬁﬁi;Fﬁ
4

3~ A fhie TREN MM EFALLEL ) B o TRER
ERARE TR A PEIFRRALT EHRL(E

o
e 7

l\?:EI
BEREa ¢ SEEE SRR /RIS E T A M

HREERE)-
2Ok ARRBE xAF B 2 (02)2366-6904

4 A F‘ﬁ#l i %KF—E{ ff_'. ;_: ?_, ’4} ¥ N ,.yuiﬂ-‘m



